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텍스트박스
278,967,808

user
텍스트박스
14,190,000
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user
텍스트박스
-174,854,780

user
텍스트박스
-49,545,258

user
텍스트박스
-11,748,548

user
텍스트박스
-37,796,710
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user
텍스트박스
631,936,039

user
텍스트박스
1,209,470

user
텍스트박스
630,726,569

user
텍스트박스
6,835,531

user
텍스트박스
-37,796,710

user
텍스트박스
-630,617,539

user
텍스트박스
90,530

user
텍스트박스
-630,708,069

user
텍스트박스
-6,831,531


s 2024 = 0jl At 2023 4 =2 A=
2 5 = 0fl A4 Q4 (A) 0fl AHOH (8) (A-B) =
1263 YA EII2 MY 4,000 6,835,531 -6,831,531 | M8 H=EX
(HRE) n=sEX
1264 /&8s ME 2,000 353,816,029 -353,814,029 —
(HRE) U=sEX
(HRE) U=sEX
(HRE) U=sEX
1265 ol EI=I|2 = 4,000 20,618,495 -20,614,495
(H2E) U=sEX
(HRE) UsEX
(H2E) U=sEX
(HRE) U=sEX
(H2E) U=sEX
(HRE) 1sEX
1266 22JIEDI2 =g 8,500 249,456,514 -249,448,014 | (MPE) ASEX

(WRE) YASHSHIIZOIZADI) 01X HEE 5009

3,248,143,695 -1,725,152,145

1,5622,991,550

3,247,559,575

—1,724,568,025

1311 EXI 04 bl

100,000,000

2,214,992,000

-2,114,992,000

=

=

26,000,000&

1312 212 OHYH 1,126,000,000 6,212,045 1,119,787,955
(Neghus: 2 212€2: £ 1,100,000,0008 (HISS2)
1314 21 H 217 O H 151,200,000 357,389,105 -206,189,105 2215 X AL2,000,0008 x 135]=2,000,0008!
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user
텍스트박스
6,835,531

user
텍스트박스
353,816,029

user
텍스트박스
20,618,495

user
텍스트박스
249,456,514

user
텍스트박스
6,212,045

user
텍스트박스
-6,831,531

user
텍스트박스
-353,814,029

user
텍스트박스
-20,614,495

user
텍스트박스
-249,448,014


o= 2024 = 0f &t 2023 U = JRT—
2 gt = Ol AFOH (A) Ol AFOH (B) (A-B) m=
[SWEA HE AL SHE] SWEA SIS E)_Asaz Za(
PC, JIXH S) 100,000,000
1314 D171 OHL!H] 151,200,000 357,389,105 ~206,189,105 [ T2 HMOTEAME ] 220FZ &57 2O A ZJ] BIZ JOETE
2,000,000 *12J1=24,000,000& 2 FH 800,000&*12CH=
9,600,000& ZLIEl 300,000 *12CH=3,600,000& A= &l
1,000,000 *12CH=12,000,000& Z°H 49,200,000&
(DSEZE) UABH DS _#FE =8| 2| 5,000,0008
[SZAIZE] BIIHIZ (28] E) 201 = 30,000,000
= _ [HolgieiEl] Qo SHSN (st s Y S IL |2
1315 ZJ|HIZ 0HH] 74,000,000 438,229,325 364,229,325 | L5 (0 000
(SHAME!) DI A SHU NI R MBS E (A2 E) 2H| 15,000,0008
[Z2HEAE] 22|02 A7 AFR A & HIE 20,000,000
(=W HPL) 25015 II2E] (212 HHA) 69,000,000
1316 X228+ 01 ] 71,791,550 0 71,791,550
(RS DS A7) X S 2,791,5502
1317 £ A 2H| 6,237,100 -6,237,100
1319 214 DI 224,500,000 -224,500,000
0
1320 & DE X4
# S8l 584,120 -584,120
1321 LEDH KA F S Y|
2100 RS2 st
963,000,000 ~470.903,
TESTERT: 492,097,000 470,903,000
L
2111 B0IXI 3 A 292,097,000 363,000,000 ~70,903,000 | MTE) BSII=A XIS ©S & 292,097,002
2112 SEA R |2i AL 200,000,000 600,000,000 ~400.000.000 (WRE) s2AMSXEMS X2 S A& 200,000,000
2200 DH ST Abst 42,000,000 1,442,986,000
F)| %ol b
0 1,484,986,000 —— -
2211 &I X2 At (HRE) det2E 12 3 &8k 1,484,986,000&
2220 JIEH D H 2
As
0 42,000,000 -42,000,000
2001 AYEZE2 &2
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user
직선


user
텍스트박스
963,000,000

user
텍스트박스
363,000,000

user
텍스트박스
600,000,000

user
직선


user
텍스트박스
42,000,000

user
텍스트박스
0

user
텍스트박스
42,000,000

user
텍스트박스
-400,000,000

user
텍스트박스
-42,000,000

user
텍스트박스
584,120

user
텍스트박스
-584,120


IS 2024 =20 ot 2023 =2 AbE
2t ot = 0fl AF0H (A) 0l AFoH (B) (A-B) =
9990 0| AHZ Xt210|
23
0 341,263,440 —341,263,440
9999 OlArE XtII0IE X3
= 27,720,138,407 32,594,348,328 —-4,874,209,921
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